w X P 8

i

o TE BBt T 2 ETR REAK EKEDER |
TN TR SAIEA 0

®

0 5, g 5 P e R £ S S R

EfE | B % | HARR EEHE
B MR
BRElK1. 5RYRREIL 110 11 20255 FT 1. 50x10A&/1%
vk 100 2 2030%E8HZET 508/1%8
£E5
EXinl 90 9 -
BEEETvE 30 3 —
J)L—= vk (E—)L) 4 4 - 0.9m X 20m/1EH—)L
TR (—AR) - - -
TR AR 24 6 -
AR—ILRyYK —
D RYFIN—T—3 - — XHMEEE 2m X 2m X 1m
KERTILFTUR 2 2 = 2m X 2m X 1.7m
BES
d=wykkAL — — XEHEEEE
I R— L LR - — x,ﬁ hEEE
ExrAL(BXR) - — XHBEEEE
BHERL (BOX) - — x,ﬁ hEEE ERAR—ILEAL
LD - — XHBEEEE HER/S/M/L
ML YRR—/3— — — X,ﬁ (hEEE
EEESAIL - — XEHEEEE
EER (7ZILa—)L) 10 1
IR 2,000 1
AL - — ><,|é| 375%%@?: R FA288 7R F 1548 (307 8v%7)
A4S 734U - — XEHEEEE
NURY—TF (250m8) 5 1
NURY—TEZARRIL(49) 2 1
BB
BTE - — XHEEEE
aJ—Ky—JL - — eSS
LAX1—+vhk — - XHEEEE
Y RAE—T - — XHERE PA%L/ AT
FRER - — XHBEERE R/ AU
Bt - — x,ﬁ hEEE ER
BB - - XEHEEEE




